Credit Recovery Alg 1 Sem 1

Sem 1 Rev Wk #1

Formulas
—¥1
Xa—=Xy

Slope formula: m =
Slope — Intercept form of aline: y=mx+5b
(h, k) form of aline: y=m(x—h) + k

Standard form of a line: Ax + By =C

(h, k) form of an absolute value function: y=m|x - h| + k

Explicit form of arithmetic sequence: a,, = dn + a,

For #1 — 8: Solve each equation for the variable. If need

Name K&)}]/

ound to one decimal place.

1) 7x+g:—11
i =5

TE==1
=~

3) 4b—-25-B+16= 45
b -4 :-4S
S 4—? 4
3= o
3

&

W SN

5) —3(11-5x) = 2(4x — 6)

~32%15%x = Fk-ia
-%x -—SE

-—-%/3 I o=
+43 +33
X< 2

JECEE
7) 1x—5+2x = \3(x -1) +%
l13x -S= \5»(—15#*8

123f< “\XS
e

(A Mm—\

2) —5(2d-8) =24

~\od 4 4P =24
_ qdo -4o
d= "'UO

e

4) 8b+1—£1 15
—~9b 4)[~-IS
~ o2 —lb
,} —4 —
\D:J-‘ip &r kl'—]
6) 14x =27 +x = 8x + 7(x - 2)
LSx -23= 3nr 7% ~

15 }»fgzx”“/

=
Fdie
W
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9) Solve and graph the solution on the provided number line: 2x — 10 < 4x — 6

Name
_“ - |
“A=\p<—6
D &YD
- £
T — =
- _‘.1’ b X 2~
For#10-13: f(x)= —-5x—1landg(x)=3x-7.
10) Find f(=5) = ~&(~%)~ | 11) Find g(—4)
= 26— = 3(—9)._-_}
(29 =2
12) Findxif f(x) = 9. .
"Sx-'y:: q
(S |

13) Find x if g(x) = 14.
3.\(—3: 14

+3F +3
(K:—5

k=2
For #14 — 15: Find the slope of the line passing through the given points.
14) 2,;) and (5,13)

15) (=9,4) and (3,-2)
Ye fa

Y, X Y
= e

2
e ~ 2k
2 TY 1246 -
For #16—17: Find the slope of the line graphed.
16) ¥ 17) N ;
' ke
\
rise M_g 4
yun - 98 . r = -l—.
= 27 \ s
S =(-3)
v v A
For # 18 — 19: Identify the domain (D) and range (R) of the relation shown.
18) {(=5,6),(11,2),(3,-1),(-2,-1)} 199 x|—-2]0 |3 |6
y| 11 ]2 -3 ] -1
0:{~5,-2,3,n]} _
: 0:{-2,0,3,.3
Ri§-1,2,6 } .
R:f-3,~1,2, 1%
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For #20 — 23: Is the relation a function? (Yes or no?)

y )
20) FTy] 2D{E29.6G9.(-28) 2 Aﬂ} 23) ?
215
431 ; ~Z'<’} 1T T ;g'x
3 ! I H
: (S 1 | it
3y Na

24) Solve for x. You do not need to graph the solution. —3 < lx + Z <5

- 5 Lgx4 3"(
20<4x & 2;)
For #25 —26: Write a linear functlon to represent each set of data.

~rt ~mnt
23) x | -1 7I1‘:'r 2 ] 3 2600 1] 23415
fx)| 7 (4) 25 fx)| 6 |11 ] 16|21 26
vV VvV U\

"\‘{'X\/ \/zslo’c_g ¥ oty ﬁgibm

Nz =3x ¥4 Y= Sx-;—ﬂ
For #27 — 31: Graph each line. w
27)‘@@ 28) y @-—Vb:-‘_l 29) y =(x +Q+ g
Sm i b:L A S‘“P—Q i (‘Bnq)

e & RS un =27 =
L{ﬁ ~ \
- > < x >

<€
A
/

v »
30) x = -1 V”M'X' 3 ) y=4 hu-l-w,_q \"doﬂ;-%::
A b
Ny
<€ > X x
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33. Write the equation, in slope-intercept form, of the line that has a slope of 2 and y-intercept -6.

y:mx+b

For #34 — 35: Write an equation, in (h, k) form, of the line described below.
34. passes through (-lz, 5) and has slope -3 35. Passes through (—1,4) and (10, —18)
O R 2- rA

m

Y emx-h) 1K me T8 F L -2

- (
=-3(xy1)+Y 10

\J'.: ~2(x +0) +Y

oL

Y = -2(x-m) (8




Credit Recovery Alg 1 Sem 1 Sem 1 Rev Wk #2 Name
Formulas
Slope formula: m = 2=
Lpiky

Slope — Intercept form of a line: y =mx + b

(h, k) formof aline: y=m(x—h)+ k

Standard form ofaline: Ax + By = C

(h, k) form of an absolute value function: y =m|x—h| + k

Explicit form of arithmetic sequence: a,, = dn + q,

For #1 — 2: Convert each line to slope-intercept form.

1) 3¢—2y=8 2) —_zé—y:n

-'J; -3X ! 1Ix
~Yut=-3x1§ ’"3%,2 Ix + ({
- -2 ~2 -\ -\ -

For #3 —5: What is the solution for each system shown?

Y= 2x -4)

Ej:'?x-lf\

v 3 Y 2
i_.r::_ ]
< v > &
. j !
M N)

\ A v
i (."'3 | ) s
For #6 — 9: Decide if each statement below is true or false.

7) A linear system with two lines with the

some \we
8) A linear system with two lines with different slopes anddtt

e

9) A linear system with two parallel lines will have no solytie
"

jﬂ'ﬁfilqdj M:‘:z\
. . . ; et _ Joldrms
6) A linear system with one honziutal ling ije vertical line will have one solu

slope and same y-intercept will have

epts will have(one SoTution

E 1: Solve each sy for (x,y). Graphs are provided but ar equired.

vy =F3x+ ~ ¥ vy =4xX— 1 ¥
Of ST S A N,
oy OSek \ =4~ ] !

< c 2 = X
~2K X N=3 f
. Y22 BN '
— =i v — v

N

|
T

i R

ion.

(MS
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14) —3x+4y=11— -3x +4A=1l 15;‘3 xﬁy: ) —— —mlo +204= - 90

“A(2s Zy=2)— ~Mx -4 =4 Lpx -3y B — \k-t3= @
o - ,

- X:_} '1‘4‘3: -4q2

s e s
2 Gha TE . (3,°3)
16) { _Zii:—f 17) {@;4]3:* -—3’8}2( j—';{@ ::_fs:
0=0 02-20

18) Write a system to model this situation:. A ski store rents skis and snowboards. Nanners rented 2 sets of
skis and 3 snowboards, and she spent $180). Johnny rented 4 sets of skis and one snowboard, and he spent 5160.
Let x = number of sets of skis rented and y = number of snowboards rented.

N&nn«:‘.{Zx +3y= 130

a{nhnn’&i Yx + Yy = | bO
For #19 — 21, write the domain and range of each graph.
19) ¥ 20) » 21) y
[ ? [ i) A
I | |1
|
| = |
\ *.\' 3 1 Voa= I
7 E 3 I
| \ i I
. < 3
| I\
e T¥
D TR‘ \) X '..<.. [ 0! x 7 -3
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For #22 — 24: Graph each absolute value function.

2)y=-3lz-11+4 29 y =2l +3] - 1 24) y =112l 43 ”
O e bp st 92
A ; A
\ / .I P
i [
A\ I
/ X131, b | . .
/i .j
| [
v 1
v v v

25) Consider the function f(x) (—:{)jx + 7| — 3. What are the transformations from the parent function y =

|x] to gel the graph of f(x)? j \ \? \
legt. dnw\
NeA | Shetn 4
refecion
For #26 —29: Solve each equation for x.
26) |x—5|+z:7 27) 2|x|+_ﬁ
B R
Jx -Sl =Y
S D>
Dx~¢= )
Degd O%F

Cx=ay x=1)
28) —S[x — 4] = —10

For #30 — 31: Graph cach lincar inequality.

30) U——x— 4

AT
5 aleR & *
¥ =
For #32 — 33: Write the explicit formula for each arlthmehc sequence.
'32) 22,29, '36 4'%\9 @33 ;=1,—6,—11,-186,...
« Sote \/\f slope
+'i +'I 9y T S S e R

i @ o ﬁ:—sn +4)
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Name KW

Formulas

Slope formula: m = 2222

P
Slope — Intercept form of aline: y=mx + b

(h, k) formofaline: y=m(x—h) + k

Standard form of a line: Ax + By = C

(h, k) form of an absolute value function: y=m|x— h| +k

Explicit form of arithmetic sequence: a, = dn + a,

Directions: Do all work on this packet. Write your final answer on the answer document.

1) Solve forx: —5x +g = —%

-

- % = 2
B. 0.4 - =
C. 6.2

N~
2) Solve ford: 2(2d —3) = -19

@upd  Hdf=
B. 4.5

. = -3
C. —6.25 % .

D. —=5.5

dx~32%
3) Solve for a: @—}&ﬁ@t}z = 34
Sa - ¢ =34
A, 5 + o
C. 10 %:HD
D. -9 5
=3
4) Solvc for b: 36— 18 = —'Zb +12
A 15 tle thp
B. 10 lob-lg:lz.
C 3D kR +13
D. —4.5 (bb=30
\ (v

b=3
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5) Solve for x: @4) = —ﬁ:\x)

ﬁ_%,; -4 =-10 +_%é

B 4 -—5):—17{:-10
C. —44 4 4y
D. 14 - x _—_.{ﬂ
5
6) Solve forx: 4x —27 =x+3(x —9)
I 2
3 = X-2%3= x +3x-2%
B. -39 ‘-%-2,’}: ‘-!JE(-Z'-?-
C. no solution s i

@. all real tl‘—s">

.._Z_:]:"z,"}" /Jr”za’g‘h‘-j

7} What is the graph of the solution of this inequality? —Ex -8« ?ji +38
~3x -

¥ <l
~Yx —-Z’c g .
B T8 X 7-¢
avele
v ’T‘\ o B) % I " @ ™ SM“’
-4 -4 0 3
Q@ . D) @=5——
4 -4 0 4
For#8-9: f(x)= —4x+ 7and g(x) = -3x—5.
8) Find £(-5) | 9) Find x if g(x) = 13,
G 3 =T v+ F A. 2.6 e—B)k"i? 3
A

=20+% @
b, -23 -3 # 3 '?%”1?1

10y Find the slope of the line passing through (3,—7) and (-2, 11).

")C‘ Li‘ xt— \5?_
e W+t |7
B. = A= = o s o VY
C 4 i =0 = =
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11) Find the slope of the line shown in the graph to the right. :
A __2 M= rlis€ (IG'H 4o 4
B S run r ‘3“‘1')
= ”
C. 6
o> 2
: —
S v

For # 12 — 13: Tdentify the domain (D) and range (R) of the relation shown.

RIS RCH RCR YREA ) |

D:all Xs
CAY)D: {=5,~4,1,4); RSN

{2 R—5—dr14};
D) D:{—5,—4,1,4); Rf—5—4i43_

14) Which relation below is a function? Select all that apply.

A) B) {(=2,4), 3.4, (3,8)} @x 71 (®) [=]2 46 [7
No ; f’ Neo I . y[3 1-1]3 |6
3 (5
2 |5 /‘{ = —5
[ |48 3 s 19 Ye
Q‘<»5 6 |7 It Bl
Yes
15) Which relation below is not a fm 3%
p ; i_i___ Lo __‘_—_N—_'—‘l-—-\
® Vit ¥ A s ast a funchim
1 |
x 1Y x (f+ ‘Faf',.f ﬁe
\Jer cal ne Test)
'ili i
i ¥
© A D) A
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16) What is the solution for the compound 1nequa11t¥ 4 < x PA <6

A. —33<x<43 3. \\<—La;/54-133
(B. B<x<39>
C —0<x<-3 33 x £ 239

D. -11<x<18

For #17 — 18: Write a linear function to represent each set of data.

- 1A
x — — — — —
fe | 3 (Ao 17 ZA 31 ] N
3 +3 3 1‘+ _ & % -2 -2 £&Po
A\}L=—1-99€—|_7" \/_\_;.\JQF“ - q_ ‘I/H A. y = —ng LL
By =7x 10> J By—x—3=
€—y=10x+3— \/’-m)(—fb (Dy=-2x+1
D.y=7x+3 L Dp=—atrt—
\SIDP" 7—("“’
For #19 —20: What is the equation of the line graphed? y
19) 2 20) A
y A.y=§x}{‘ A y=2x
- B_y:—ix—B ﬁ -+ ? B.y=x+2
/ 3 < > C.x=2
< >x C.y=—cxPpd
/ (ﬁfll =3x-3>
s =-x—3 har,sw 4—9
'3 be-3 =S v = &
32
For #21 — 22, which line is the graph of the given equation? %
21) y =lx—4 : 22) y =@ D+
, S bery (griat) N/
A A ¥ Qs ’
e 10, NG G B et
A W chonges
) / i M‘—“,L.J’ & < (:fl?é | ine
/' NG (W] 7
] A\ v ' v
) A D) v/ ON_ 4 D A
\‘ ,/ X
I N \\‘
\ 4 Y
Must 9o vfl'\ ! mwt o daw\h M

( poshve Slope) (V\quwﬂ sope D




Credit Recovery Alg 1 Sem 1 PRACTICE Fina

23. Write the equation, in slope-intercept form, of the lige that has a slope o nd y-intercep
A y=3x—-1 =

—wmX+b
L

X
D.y=-3x+1 T j‘
y: ~k %3

For #24 — 25: Write an equation, in (h, k) form, of the line described below Q/- m (X l’\) y 4

24. passes through (-7, 5) and has slope -3 25. Passes through (— 1 /4) and (10, —148)
L. X' \ XQ__ {
I, A & &
~ Y= 30wTs| Ay O 10) 418 ——
y=-3(x—-7)+5 . W B S
y=—?(x+7)—§ =Y o
L y==3(x-7)-5 _ Y= ~20x~0) 18
D.y=-2(x1) +4 P
|
o 2-2(x®1) +
For #26 - 27: What is the solution for each system shown? s Y (x® ) 4
v ,
26) 27) A
| M Ty
HT ST i =\ .
T )
e olon-
: ’ [ A+VEect
A (—4,2) A (-3 1)
B. (1,3) B. (-1,3)
. No Solutlon b '
| D. Infimtely Many Solutions

28) Which statement below is always true?

N~
A lincar system with two lines with the same slopes and different y-intercepts has op€solution.
@ A linear system with two parallel lines has no solution. TIZUE
ﬁ— o solshieny

A linear system with one vertical line and one horizontal line has no solution.
A linear system with two vertical lines has one solution.

] \ ’\! No Solwhs
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e each system for (x,y). Graphs are provided but are not required.

zx .\.‘ 3: = + 6 F\ ; A
+ X o
‘ 5x * :ﬁg S -
e e %(':d_ /
D. (7,15) ' 3 \= 2053 Hf
\[:S J A/

30 {yx :(24 )1/ f—._(;:f) + ) A-ﬁ:

g_ (3,%4) Y = Z(q)ﬁ( < 3 v
V=7
D. (k54

31} What 1s the value of x for the system sho

A x=3
B. x=-16

: i

3x44y:11.—-\ ~3x +‘;A:{

33) Solve the systcm:JE

A Y =1f

= 2] ¥

A. (1,2 “A -7 5&‘;3

C—76) g 5 .

D. No solution \_j:-. 2
C"'{}Z—)
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34) Which system below has infinitely many solutions?

A)%+j O, ji?;f

0<o ¥

l\(oSo(td’lM j«fﬁnﬁdj /WMj SD{A)MS
—5x+7y=-9 —4x — 11y =20
C){ Sx+7y=0 D){4x—11y=2

35) Which system below models this situation? A store is having a sale on shirts and jackets. Steve bought 7
shirts and 3 jackets, and he spent $320. Ryan bought 5 shirts and 2 jackets, and he spent $220. Let x = number

of shirts purchased and y = number of jackets purchased. .
Shirls + jaceefs = Aofrl

A\L{” O3y =320 {7x +3y =320
5x ©2y =220 5x + 2y =220
x-E)y X+ 2y 7)( +3j=32/o
7x+3y—220 = Cx + =220
5x + 2y gl? D)‘m Lj
y
- A .
36) What is the domain and range of the graph shown to the right?
/
@D: all real numbers; R: y > -1 oJoo e he
B. D: all real numbers; R: y™>0- heght o < 7 > x
C. D: allreal numbers; R: y<-=1_ -1 P
D.-Draltreatnumbersi-R—allrealnumbers
v
37) What is the domain and range of the graph shown to the right? y
| A o R
: R (13 .\\)
B. D: {x>3} R: {y<1} ™
C. D: {x>1} R: {y <3} ): o *’j‘l’m °’°‘;4
D D: {x<3}LR: {y>1 ¢
O BRI 4
38) What is equation of the absolute value function graphed below? v
y
—X y A—y==2trF3+ 1 oy o
. - - 1 . P cr ‘ n)
y=2|x@38|-1 (’/)OS?’T\W Slope
<€ > x Dy = Lix =3 -1
Niesex= (=327 )
N x
v

Un«@z‘é«, suyn of h]
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P — |
39) Whatis the graph of y =3 [x +2| =17 (-2,-

Kb SSoms OB oy
down < '
| | ~
A ”;x ik
v
y y
o A )8 A
D \Ix S~ 5
v A v

40) Consider the function f(x) =(=lx — 1| _:P Z\( What are the transformations from the parent function y =
|x| to get the graph of f(x)?
VeA-ref
A) vertical reflection, stretch, shj}bt:p’l, shiM 4
chn, 5
vertical reflection, shift right 1, shift up 4
D) vertical reflection, st1‘>¢h, shift left 1, shift down 4

41) Solve the equation for x: —2|x| + Z= _Sb

A) x =*1 - -~
B) x=7 ‘)( 'ﬂ‘
C)x=1 - ~Z
Il > %
Xz 23

Li)%\_s'[—(z

C) x =43
D) no solution )( c ' - 3

¥
Oxp=z © "? i
ESSREER)

42) Solve the equation for x: 4|x — 5| + Z =15
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43) Solve the equation for x: + -20
S

A) x =14

o \’V‘\#: y\eauh\(c
B) x=—3;x=5 \xsf\\:(—)‘{/’

C)x=+4 .
Daom™  No sl

44) Which coordinate system below shows the graph of zx —-3?

y
4 » B $
solid hae .
1 _,.:x shode T 5
< N o
a v

’
—
-
Ty 1y
20~ ¥ 4 (nt
45) What is the explicit formula for the arithmetic sequence)l 7,14,11,8,5,...?
NN
= —3 ~3-3-3
&ﬁ;ﬁy}l S
an = _3n +-z-£> S‘o
C) a, = —3n+ 14 pe
D) a, =8u + 20
46) Convert to slope-intercept form: —2x —y =7
A2x f2x
A y=2x+7 I\ ~
B.y=-2x+7 '%)_(.*i
LU
D.y=2x-7

jw&x-ﬁf




